0w 2000——————————————————— 0 0.05¢
X C : : : : : : : : : o) c : : : : : :
Q L . . . . . . . . . ) r . . . . . .
g T A D045
= R A A © - 5 5 5 5 5 5
U S BO.04
EU o S S S S S S B 035
S L O S O O SO S N NNR NI S W O O O
2 -0 S 1 I
R T e e e e o S s | e S
O+ 5002
oo : : : : : : : : 3]
e S e e e $.015
I 0
Sl s A NS A i S S 0.01
L e 0,005
9Lll"@:ll‘l!*l*!¥ll!lII!III!¥II!III!III.III.III 9 J.Qfl 1 1 I "I I 1 1 1 I 1 1 1 1 1 1 1
T S T i :
o T T T S S A S (8 Y R (0 1440 A 114 o 0 A SO R .
T A R [ i ’ l 1 i : :
I e 0.8 f-4H{- i ...... A1 R e .

0 20 40 60 80 100120140 160180200 20 40 60 80 100 120 140

TrackingParticles Pileup
—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixelCPENoMatR_step2_ttbar-phasel-newgeom
T T TU-UoT T

2.045
©
2,0.04
£
-§).035
=
5003
©.025
80.02
(6]
9.015
wn
0.01
0.005

10
1.1
1
0.9
0.8

Ratio




	Contents
	Page 1


